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Q1.
Use a single graph paper and draw the graph of the following equations:     y – 2x  =  1,      2y – x  =  8     and  5y – x = 14 and obtain the vertices of the triangle so formed.

Q2.
Solve the following system of equations for ‘x’ and ‘y’


                  22                    +                      30                  =          5  

                          x + y                                      2x  –  2y                        


                110                      +                 45                =          14 

                      2x + 2y                                   x  –  y                        

Q3.
Solve by using cross-multiplication



p(x  +  y)  +   q (x  –  y)  =  p2 – pq + q2


p(x  +  y)  –   q (x  –  y)  =  p2 + pq + q2
Q4.
For what value of  ‘k’  will the equations: 2x + ky = 1 and  3x – 5y = 7 have (i) a unique solution (ii) no solution.

Q5.
The largest angle of a triangle is equal to the sum of the other two angles. The smallest angle is (1/4) of the largest angle.  Find the angles of the triangle. 

Q6.
For what value of  ‘k’  the equation  (4 – k)x2 + (2k + 4)x + 8k + 1 =0 will have equal roots ?

Q7.
If If α and β are the roots of the equation  2x2 + 5x  + k = 0, then find the value of k, if  ( α2   +   β2 +  α β = 21/4)

Q8.
Solve for x:          (x2 – 3x)2 – 16(x2 – 3x) – 36 = 0

Q9.
One fourth of a herd of camels was seen in the forest. Twice the square root of the herd had gone to mountains and the remaining 15 camels were seen on the bank of the river. Find the total number of camels.

Q10.
If I had walked 1 km per hour faster, I would have taken 10 minutes less to walk 2 km.  Find the rate of my walking. 

